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Nanyang Primary School
Primary 5
_ Mathematics
Term 2 Weighted Assessment

Name: - . sy | Marks:
Class: Primary 5 ( ) /20
Date: Parent’s Signature:

Duration: 40 minutes
The use of an approved calculator is allowed.

Please sign and return the paper the next day. Any queries should
be raised at the same time when returning paper.

Questions 1 to 2 carry 2 marks each. Show your working clearly and write
your answers in the spaces.provided. For questions which | require units, give
your answers in the units stated. {4 marks)

1 Find the area of the shaded thangle.

1cm -

Iﬂcr_n

Ans: _ cm?
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2 In the figire below, ABCD is a ;e;r;tang'ie. AGB, BEC and DFC are
straight. lines. BF = FC-and BE = EC. Find the total area of the
shaded paris.

22cm

12 em

Ans: __cm?




o

For questions 3 to &, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackefs [ ] at

the end of sach question or part-question. (16 marks)
3 The figure befow shows a solid made up of 1-m cubes.
Top View

Front View Side View

(a} Find the volume of the solid.

Ans: (@) ___ S—) |
(b) Draw the front view and the side view of the solid onvthe grids
‘below. o ' o
Front View Side View

2l
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_Sam, Abu-and Ravi went jogging, They jogged 8100 m in total. Sam
jogged:0.447 km more than Abu. Ravi jogged 0.8 km less than Sam.

(a) Express the total distance they Jogged: in kilometres.

Ans: (a) - [1]

(b) How far did Ravi jog?

Ans: 0y . B




5 A recién‘g‘ular tank, measuring 40 cm by 20 cm by 12 cm, contairied
2400 ml of water.

40 cm -
(a) What was the volume of the tank?

Ans: (a) [1]

(b) A cubical container was filled with water fo the brim. Some of the
water from the cubical container was poured into the tank until the

3 . ) . L
fank wasz full. There were 1032 mi of water left in the cubical
_ container.

container = .

What was the capacity of the cubical container?
Give your answer in L.

Ans: (b) [3]




o
L

The table below shows the charges for sending parcels.

Mas_s.ofb-«':xzi_‘dbl._ . ~ Charge — 3
Upto3kg o $10.
UptoSkg | - $18
Upto10kg | 835 N
More than 10 kg | First 10 kg ' |93
andupto30Kk3 | Every additional kilogram or less | $4:50

(a8) Nancy sent two parcels with the mass of 4.6 kg and 12.5 kg. How
" much did she pay altogether?

Ans: (a) _ 21

(b} Mrs Siva wants to send 35 kg of rice to her shop. As she cannot
send any parcet with iass above 30 kg, she decides to pack them
into 2 smaller parcels. What is ‘the least possible amount of
money she must pay to send her rice?

Ans: (b) — {3l
End of Paper
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Class; Primary &5 ( ) 120
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The use of an approved calculator 15 allowed,

. Please sign and retum the paper the next day, Any queries should .

bo-raised at the samo tima whén returring paper,

Questions 1 to 2 carry 2 marks sach. Show your workdng deary and write
Yol answvers In the spaces provided. For questions vhich requits anits, give
your answarg In the unlls siated. {4 marks)

1 Fing the area of the shaded itiangle.

m
I1crr|
fun {KB\(B
= lg
————e
bom Ars; 'g am?
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In tha figure below, ABCD is a molangk. AGH, BEC and DFC are
straight lines. OF = FC and 3E = EC.  Find the tolat area of he
shedad parta,

22 om -
A G B
fom
12om E
bum
o wwn F o  C
125s1=1]
231=6 .

Peact 8D&F = Lxtixiz
= hb um”

hvea sl 5 BRC = T 6% 1

33 om

29x )%
o 268 um™

bonof Anay

\u

Tobl totn o] shoded pody = 204 b6—23
= by twn

Ans: ) 65- cm®

For quesfions 3 1o B, show your working clearly and wrlle your answers in the
epaces provided. The mumber of marks avalable i shown in brackors [ ]at
e erl of esch guestion or part-quealion, {16 marks}

3 The figure-below shows & solld made up of T-m cubas.

. Top View

Frant View Slde View

(8} Fid the volume of the solld,

1
s @) ___33m7 o
{b) mmefmnlvlwanems{daviewnfhesoﬁdnnmeuﬁds

Fron View Side View

=

Sam, Abu ahd Ravl went jpgying, They jogged 8100 m in total, Sam
jogned 0447 km mare than Abu, Ravl jegged 0.2 km less than Sam.

{a) Express 1o total distance they jogged in kiometres,

btoom =( £10031000 Yewm
= bl

Ans: (a) E‘lhﬂ el

(h) How for did Rovi jog? 0.4

Abu — Y fm
Som
o8 I
0o T

brtoyyrted=123y])
73473322449 (Sam)
2.449-0.8= L.byq

Ans: (b} f-ﬁ‘f-?kmm




5 A reclangular tank, measiidng 49 om by 20 an by 42 cm, contamed
2407 mi of waler. .

.

46 cm
(&} Whatwas the valume of ihe tank?

f2% Yexen = 900

Lo X
L as @ _ 000w g
(1) A cublcal Gantainar was Rlied with water to the brim. Some of the
water from the cubical contsiner wes poured inio the wnk unlll the
tenk mg full. Yhere weans 1032 mi of walsr Wit v the cublcal
containar, ’

S
' 1@%1@?’%“{__ W

Cubleal 40 cm
camsiner 40 om

What wes the capacity of the publcal containes?
Ghea your anawer i L.

3
£ qfoo = { brwnn of waker
4 X 9600 = 7200 L

T200-2400 = Lgon { Waltry poured 0
4300+ 1632 = $§32 € Vel.of waler In e
tubRad covthingr ]

5332 ml = (B2 % looo )}

= b6.8nf
PR i) A
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The bk bejow shows the chages for sending parcels,

s oiparer 1. L -
Upta3kg §10
|- Upkasig $18
Uplo10kg 5
More than 10 kg | First 10 %9 I
andupto 30%0 | Euery additionsl kiiogram or lees [ $4.60 -

fa) Nancy sert two pamosls with Lhe mass of 4,6 kg and 12.5 kg, How
much did she pay atiogelher?

4.4 kg parcet > $I6 poid

1 p , 4o ta by s $3C

IL;E percet 3 ;ta.}mhjta(lz.r-_wazﬁ}kj I LT P
1F435+18.C = 147 . = $3.70
(-:hhlj Ans: {a) $ 69 S0 @

(b) M Siva wants to send 36 kg of rice 1o her shop. As she cannol
send any pacsl with mass abova 30 kg, she decides ko pack them

ytolZ smater parcals] What is the least possible amount of
My sha pay 1o serd her rice?
351::1 spit
@ @
Fie 10 By 2 935
2
¥ e 19y 2 15 %0450
= {7.¢7
Tl = 35+47.5
= [031.5
Totad for 351y poreed = loas +35
= I37.Y

s @y BBTI0 o

End of Paper



